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1.

5.

Yellow+Y

6.

(2)

In the given passage, you can easily discard
options (d) and (b) because they cannot be made
out from the text. Notice the word "unregulated"
(not regulated by government). This is your
answer. This option is more appropriate than the
option (c) because it has been explicitly
mentioned in the passage.

(d)

The ideological bias of the apologists is that free
markets are fair and competent. But the passage
criticises this bias. This implies that free markets
are neither fair, nor competent.

(a)

It might appear that statement I should also have
been correct. But, it is not because the passage
does not say it is a false ideology. It says it is an
"ideological bias" and that a more "honest
conceptualisation of interests of rich and poor are
needed".

Therefore, don't mistake by reading too much
between the lines. Stick to what the passage
suggests. Do not draw your own conclusions. It
is very important to read the passage
"objectively" for what it is-and not what you may
think.

(a)
Salary of the manager = Rs. (31 x 4300-30 x
4000) = Rs.13300

(c):

Blue

Yellow
Black

Black
L

tBIue

(c¢): The series can be seen as 4 (=2), 196 (=14),
16 (=4), 144 (=12), 36 (=6), 100 (=10), 64 (=8),
X (7). Now observe every alternate term, value
of X will be square of 8, i.e., 64.
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(a): AT TN 3= #, 39 fawew (d) 3R (b) B
M ¥ 8T Jobd € Fifp I U1d F T8l g9/
S Fepa g | "SHFAE" @RSR gRT fafafia g
Teg R & & | T8 3MUHT IR 8. I8 faved fadpey
(©) ¥ 3if% Iugad | Fife U@ I T A
Wy w0 Q fear mar gl

(d): Tad®! &1 IS ganig a8 § & gad IR
e 3k gem €1 Afea uR=e 39 gafug @t
3T BT B | 3BT A1 T8 § fob Jad IR
A fwe ¢, 7 3 e

(a): T gfid & Ibar g & sy 1 o I g
afeT oTl A, Ta1 T8 & i aRg a8 8
Hedl b I8 o ol [AIRYRT 81 594 ®el 71 @
f a8 & "IaIR® gatue" § ok "o ok et
F fBal I 3 SHMCR ITUYRUN HI MaLTDHT
2"l

g3fore Ufdadl o o9 & 9gd S1fUed U &1 TTad! =
FR| TG Sl AT § 99 W HAT 7|1 30
frd 9 Fed. Y @ agAE T U 4 g
§gd eyl ¢ b Tg 1 831k ¥g e b oy
A g

(a): TSR BT I = 3. (31 x 4300-30 x 4000) =
13300 ST

(0):
Blue
Yellow 111
Black
Black
Yellow+Y
L Blue

(C): YA BT 4 (=2), 196 (=14), 16 (=4), 144 (=12),
36 (=6), 100 (=10), 64 (P TT H 3T & Febell 2|
=8), TR (7). 31§ TP IPheudh Ug BT e o3,
X T A 8 HT I ERT, T 64.
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7.

10.

(d): It is given 136 + 5B7 = 7A3.

Add the unit's numbers to get 6 + 7 = 13. So,
carry over 1.

=>1+3+B=1A => 1+3+ B=10+ A=>B - A =6.
Which means if A=0,B=6;if A=1,B=7,if A
2,B=8andifA=3,B=09.

But given 7A3 is completely divisible by 3. So,
as per rules of divisibility, 7+ A + 3 = 10+ A
should also be completely divisible by 3.

So the possible values of A are 2, 5 and 8.
(12/15/18 divisible by 3) Out of these, only 2
satisfies both the conditions so A2, so B 8.

(b): The statement of Mohan is emphasising that
China's economic slowdown will benefit India's
economy. Subhash shows disagreement and he
Thus, according to him, Chinese
slowdown will decrease the demand of Indian

says no.

exports and thus not benefit India's economy.
This is expressed in option (b).

Option (a) and (d) are wrong as they contradict
Subhash's statement. Option(c) is also wrong as
Subhash does not say anything about earlier
export condition and only relate it to future
trends with respect to Chinese slowdown.

(a)
Relative speed of two persons = 80+120 = 200
kmh
. 600
Thus, the time taken = 200 = 3h

(d): Let Rose, Lily, Tulip, Lotus and Marigold
be represented by R, L, T, Lo and M. As per the
Ist statement: L -R

Now, as per the 2nd statement, Tulip is to the left
of Lotus and on the right of Rose.

Thus, both Tulip and Lotus are to the right of
Rose: L-R-T-Lo

As Lily is to the right of Marigold, the final
picture that emerges may be represented as
follows: M - L -R-T-Lo

It is evident in the above figure that Rose is in
the middle of the row.

Hence, option (d) is the correct answer.
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(d): T8 136 + 5B7 = 7A3 feor maT 81

6+7=13 U1 & U 318 Bt TBTE SIS | 3,
1 &Y 3T g1 |

—>1+3+B=1A=> 143+ B= 10+ A=>B - A= 6.
e sf g fpafg A= 0, B=6;a@A=1,B=7,
e A 2, B =8 3R T A =3, B =9.afe four m
7A3, 3 ¥ T e @ faurey B 1 gaferg, favmsadr &
o & SR, 7+ A + 3 = 10+ A BTt 3 g
WRE ¥ faursg g1 arfe T

@ A & GHIfad |9 2, 5 3R 8 Bl (12/15/18 3
fayTsT) 378 @ Faa 2 T UGl B R BT ©
29fa A2, SUfTU B 8.

(b): HIEg &1 §9H 9 §1d W &R ¢ @1 ¢ fb 9
DI s At/ URA BT SrfeuayT Y WIS ghT.
Uy 3redfa i@ § iR 98 Fed € & 39
UHR, 396 IR, I Hel ¥ YRdg fFafa &t
AT H S STt 3R 3T URA B1 srfoawy oY
HIg 1Y 8T I 32 faw ey (b) H sgad fpar man
gl

fa®wed (a) 3R (d) TTad § FIfF T U F HUA BT
T #Rd 21 ey (o) Wt Tad € wife U
Ugd &1 Fafd fRufd & IR & 2 78 F8d € &R
Y PHad A4 7l & Iey F Ui & IEr 9
Sed gl

(a)
a1 AfeTal Bt el Tfd = 80+120 = 200 fbHt
37d: foram 91 ¥HT = 600/200=3 HeT

. (d): AT e, foreft, gfer, SHd SR AT HIR, L,

T, @ 3R TH gRT <A1 T 81 U8 &Y &
SIUR: L-R

3F, T HYT & IR, AU dAled & a8 3R
3R A & a8 3R B

39 TR, ST 3R ey S} TaE & ars 3R 8:
L-R-T-Lo

dfep foreh A & o iR 8, gafery SwRA areht
3ifo TR P 39 UBR <RI ST YhdT8: M - L -
R-T-Lo

SWRIad fo & 98 Wy § & [ae ifd & qa § g
31ct:, fdped (d) TEt ST
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11.

12.

13.

(a)

Extra interst = 4% of principal = 4% of 600 per
year = Rs. 24 per year
Thus, extra interest earned in 2 years = Rs. 48

So, Amount = Rs. 720 + Rs. 48 = Rs. 768

(a)

Number of routes from A to B = 2 Number of
routes from B to C=1 = => Number of routes
from A to C via B = 2x1=2 Now, Number of
routes from A to C = Number of routes from A to
C via B + Direct route A to C = 2+1=3...(3)
Number of routes from C to D = 2 Number of
routes from D to F =2

== Number of routes from C to F via D = 2X2 =

Number of routes from c to F bypassing D =1 S
= Number of routs from C to F = Number of
routes from C to F via D + Number of routes
from C to F bypassingD =4 +1 =
Using (i) and (iii), we get total number of routes
from A to F = Number of routes from A to CX
Number of routes from C to F =3x5 =15

(c): When we open up the cube, the number on
each face will be as follows:

2

n

1 3

14.

6

Rl

Thus, the number on the face opposite to 5 is
3. Hence, option (c) is the correct answer.

(d): According to the statement freedom is
individual capability to do things that a person
has reason to value. Option (a), (b) and (c) all are
freedoms in this regard but option (d) is not
related to individual capabilities. It can be the
right of a person, but cannot be his freedom as it
is not concerned with individual capability.
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(a)

Sfffead SaTe = JAUT BT 4% = 600 U T BT 4%
= 24 303 yfg af

Y UPR, 2 aul 7 3ffoia 3ifafad saref = 48 3Ud
an MR = 720 T + 48 T = 768 IW

. (a): A@fswnﬁaﬁm 2 B Y C d& AN &I

& =1==>AYB BId Y I qP AN P! THAT =
2x1—2&ra,A¢Tca$Hﬁﬁm—A®ca$
AT &t W B + WY A A ¥ € dF = 2+1=3...3)
C ¥ D d® AN & W& = 2 D I F db AN B
=T =2
cﬁDaﬁ@Fwnﬁﬁm—zxz

D & ERfHAR IR U C I F % & AT &1 G- =
1S=CUFdH & AN B TAT=D & AIEAH J C
%FW%Hﬁﬁmmﬁmmﬁ@c
QFdD S AT DI YBM =4+ 1 =
(1)@?(111)$TWTWW,@WW%

AYFTF AN &1 A &A= A I C % AN B
IWATx C F F dP HF DI TJAT = 3x5 = 15

. (¢): 99 BH T &I WA, df AP Bad R I-AT

Y UHR I
2
5 1 3
6
4

3 UPR, 5 & [QURId had W T 3 g1 39T,
faPHed (c) T S B

. (d): BYFT & ATAR WaAdT 37 Aol DI A B

Hfaara emar 8 g ot safdq & o wg@ 3
F1 HRU B faded (A), (B) 3R (C) It 39 Tay A
Waadar § dfed fdeem (D) afdma emanst 9
Tefia 6t 81 a8 fordl) aufad &1 iR 8) Wb
G &1 § g &Y T8l 5|
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15.

16.

17.

18.

19.

(c): Let the number of batsmen in the squad = x
Let the number of pure bowlers in the squad =y
Now, 3x/4 +y=80% of 15 (Given) 34+ y =12
Also, x + y = 15 (Strength of the squad) Solving
the two equations, we get, x = 12

(d): Pure batsmen = 25% of 12 = 3 Pure bowlers
3 (from above question) Ratio=1:1

(a): The passage explains that by forgiving
ourselves, we can free our own self from the
prison of guilt.

Therefore, it can be safely assumed that we can
forgive ourselves. Thus, Option (a) is the correct
answer.

Option (b) says the just opposite and thus is
incorrect. Option (c) is incorrect. It can't be told
about every human being.

Every human being is not trapped in the prison
of guilt. Further, the passage advises us to love
ourselves and thus Option (d) is also incorrect
which says just the opposite.

(b): The passage explains that once we open the
door of our heart to ourselves and reach inside,
we are perfect. Opening the door of our heart to
ourselves here implies loving and forgiving
ourselves. Thus, Option (b) is the correct answer.
Option (a) is incorrect. The passage mentions
about loving others the way we love ourselves.
However, in the passage this is not described as
the way it of achieving perfection. Option (c) is
also incorrect. The passage does not mention that
being at peace with ourselves will lead to
perfection. Option (d) is wrong because the
passage clearly says that "If you wait for
perfection, it never arrives."

(a)

Refer to : The Sarkaria Commission described
the Governor as a Constitutional sentinel and a
vital link between the union and the state.

The rest of the statements are incorrect as they
do not pertain to the Sarkaria Commission.
Hence, option A is correct.
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15.

16.

17.

(c): AT 11 H SeaiaToll ®f 98T = x

T & H Yk TeaToll &l W = y

3(d, 3x/4 + y = 15 BT 80% (T AT B) 34+ y =
12

IS AME], x + y = 15 @ DI dbd) qHl
BT B g B W, gH aar g, x = 12

(d): IS TEAATS = 12 BT 25% = 3 L TIGaTol 3
(SURIGT U ) 3UTd = 1:1

(a): STDC IATAT © % W HI & B, §H WY
BT WY BT O J Jod B Jobd 2|

3T, T8 Qi T J T S gl § & &9
WY P & R Ihd 7| 39 UBR, [Jbe (A) TE
IR EI

faper (8) faepa fAuld wear & SR 39 THR
Tod g1 faoed (C) Tad 81 SR S & IR | I el
ST ST Fepdl.

WS WY H S H Tl BT 8, 3P AT,
UR=C W e ¥ TR B B a8 ol § 3R 39
yoR fawed (D) 1 Tod € oY foepa faudia wed
g

. (b): TR=¢ §aTaT @ P Th IR e gH 3 fod &1

ZRaTST 3 forg Wierd § iR 3feX ugdd §, df g1
aRyuf B0 &1 T81 3 §a $1 gR WY & g
G 1 arqd WY 4 UF AT 3R & BT 2
39 TSR, faded (B) WE IR 8|

fa®wed (A) TAd §, 39 offwse H gl § I UHR
UH &1 BT IW § o9 UHR g7 Wh J Hd ¢
gaife, TR e A 39 YOidl U 1 & aid &
wu ¥ gfvfa gt feoar man 31 fasew (¢) i 7Tera 71
=g H I8 e 8l ¢ [ Wd & 91y wifd @
IE ¥ gufar ut grftl fasen (D) Ted § e
uR®q WY ¥U § Hedl ¢ & afe 37 gofdr o1
Tchie I §, df 98 Haft e et g1

. (a)

TH: IRPIRAT T J Iy BT T aeT-p
e 3R TY 3R 9 & o9 e Agaqul Hal
S|

P SO TAd § HMife 9 JRBIRAT M
Tefera Tt €1

3, fapey A Tl 81
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20.

21.

22.

23.

24.

(d)
G is the son of A, and F is the brother of A.

(a)

Here, the change in true time is 11 hours.

In each hour of true time, the faulty clock gains 5
minutes.

So, in 11 hours, the gain would be 11x5 =55
Thus, the time shown on faulty clock = 5+55min
=5:55

(b): In the passage the author is believes that
despite the negotiations to freeze oil production,
oil price will continue to decrease unless there is
no concrete action. And, concrete action is
possible only when Iran participates. Thus
Option (b) is the correct answer.

Option (a) is incorrect author does not show the
concern about abut possible oil price rise. Option
(c) is incorrect because there is no mention of
any war in the passage. Option (d) is also
incorrect. He is not content with the promises of
oil producing nations especially Iran.

(¢): The production freeze is likely to be a non-
starter because according to the passage, after
years of sanctions, Iran will increase its oil
production to capture the market share. Option
(c) is, therefore, the correct answer.

Option (a) is incorrect because
technology is not mentioned in the passage.
Similarly, the conflicting political interest of
Russia and Saudi Arabia is not discussed in the

shale gas

passage and hence, Option (b) is also incorrect.
Option (d) is wrong because in the passage
nowhere it is discussed that Iraq, Qatar and
Venezuela are not supporting the freeze.

(b): The author guides us that true way of being
religious is to be moral. For this same reason,
Statement 1 is correct. Statement 2 is also
correct. The author criticises untruthfulness as
immoral. This indeed implies that he insists us to
be truthful.

Statement 3 is incorrect as the author nowhere
criticises the religion.

Thus, correct option is option (c).
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(d)
G ABITAE, 3R F, AHBIHE &I

. (a)

Tgf ardfae gAY | uRad 11 ¢ BT ]|
IRafas T F yd® °e H, qogef gt 5 e
3 ¢ et 5

dl, 11 9l H, 1Y 11x5 =55 8RT

Y UPR, WE Ul R fe@m™r T 999 = 5455
i e = 5:55

. (b): IR=E T @S B AT § 1P dd IAGH B

AP & e Sa<did & Srace, 99 db s o
HRATS 8] NN 99 a9 dd B! BT | FRTEae TR
WM 3R, 319 FRaR afl 4T 3 o9 I3 399
YTT 1| 39 YR fdbed (B) T8t SR &

fawed (A) Tad B, dWH JUIId dd I gfg &
IR ¥ ffar 7€) fewrar 21 faew (¢) e ? e
IRwe § foddt gg &1 18 S el gl fawe
(D) Ht 7T 31 98 9 SATGH SR WP 3 b
EIMEEGEEEE

. (¢): IUTET R AP Th TR-TIER BH BT GHITT §

P URwe & IR, I8 & ufadel & a1g, M
TR R W Fool F- & (A8 304 ad
Ided ¥ 3fg s sufan, fased () I8l SR
g

e (A) Td & Fife =g ¥ Jd g
WRNfe! &1 I gt forar T g1 T UeR,
IRwe & 9 R ISHdl 3R & RER faxeh
Torifae fgdl R @4t T8 @1 T § SR 39,
e (8) Ht T §1 fdwew (D) Tad § Fife
3= § ol Wt ug == 18t 31 S § P W/,
HAR 3R AU b BT AT T R B B

. (b): AGH EHRT ANTGH Bl & fb urfifes g1 &1

Tl AT Afdd 1 81 T FRU D, HUF 1 TGt
21 BT 2 i T R | AT T Y A T
BTSS! AT HRT 8 | IHT IRAd & a1y I8
P el Tmen & fw aRa wrar gl

HYF 3 TTAd ¢ FIfPp dTD Pal U o BT e
EHERGIN

39 UBR, I8! fawe fawed (C) 71
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25.

26.

27.

28.

29.

(b): The passage discusses how melting of Artic
ice will bring water to surface which absorbs
more sunlight and thus, causes more warming.
Thus, Option (b) is the correct answer.

Option (a) is incorrect because it is not discussed
in the passage, whether Artic melt will
eventually lead to collapse of global biodiversity
systems or not. Option (c) is incorrect because
the passage does not convey that most important
threats to mankind will begin as the Arctic ice
melts.

Option (d) is incorrect because the repercussions
of Artic melt will not remain confined to the
Northern hemisphere of Earth. The passage
clearly mentions that the large-scale changes in
ocean circulation will affect biodiversity well
beyond the Arctic.

(a): Statement 1 is correct because the passage
clearly mentions the negative consequences of
Arctic melt.

Statement 2 is incorrect because the author
believes that replacement of ice by water in
Arctic may accelerate global warming and not
decelerate it. Similarly, statement 3 is also
incorrect because criticism of developed nations
is not the issue of the passage.

Thus, option (a) is the correct answer.

(b): Statement 1, 2 and 3 are correct as they are
directly mentioned in passed line 1, line 2 and
line 3, respectively. Statement 4 is incorrect. It is
out of the scope of the given passage. We still do
not know if these clearings will reduce our
dependence on foreign military supply.

(¢): Option (a) and (b) are directly mentioned in
the passage in the penultimate line and in the
third line, respectively.

Option (c) is also mentioned, but not as a part of
Project 751. Hence, it is incorrect.

Option (d) is also directly mentioned in passage
in the penultimate line.

(b): We know that the area of rectangle is:
Length X Breadth.

Let L and B be the length and breadth of the
rectangle. So, the area of original rectangle, A=
LXB

Now, the area of new rectangle=1.4 L x 0.4 B =
(1.4 X 0.4) (L X B) =0.56 A Thus, the new area
is 56% of the original rectangle, i.e. there is a
decrease of 44% in the area.

' IRACE IAS A
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25.

26.

27.

28.

29.

(b): TR & 99f B1 75 ¢ b B4 Mbicd DI IH
& fUraam 9 U 9ag W 31 S o S g &
THTR P AN FRal § R T TSR, 3w
Tf BT FRU IA1 §1 39 UGR, [GHed () T
IR e

fawed (A) Tod € Fife uvwe & 59 91d R ==t
T8 @1 72 8 {5 snbfess & fraem @ sida: dfyw
g fafaerdr gomel Ty 8 st ar T8t faee (o)
TAd § i ®E 39 TaY Agaqul TR B
Iad 8] IRAT & SMbfed ! gh fUged o
AT BT LT 81 ST

fdweg (D) TAd § FifP Mbfed F fgay o1
guTd gt & It Mard d & fid T8 @
e § WY ¥ U ¥ I far ma g 5w
IRTERU & 9 00 R URGd 3hfed ¥ W g
fafqear &1 uwifad dam|

(a): BYT 1 T § TP U= H mebfess Muar &
FHRIAD YRUMH BT WY U I Ieai@ foar w1
g

FHYF 2 TAd & HifP AGPH P A g [ 3bied
T ol gRT 9% & UfawIToT ¥ Teed arfeft 7 doft
3T gpdl g 3R 3TH HH 8T 3T Ihal gl 34
TR, HYT 3 Ht Tod g Fife Ielyd 3= ot
STareT aRwse &1 g1 T8 ¢ |

39 UHR, f[dwed (A) T8I SR B

(b): BT 1, 2 3R 3 TE' § HNfF AP I
AT TR Ufad 1, Ufed 2 3R dfdaq 3 & fopar ma
21 HYF 4 TAd §. I8 3T T uRwE F SRR ¥
IR g1 gF 37t oft et oIa € 5 s Ao @
fac=ht = amyfdd w gAY Frdar &9 8 S

(0): e (a) 3R (b) &1 Iw@ HH: Sifaw dfda
3R ferdt dfea & uftede & faran man B

NG (¢) BT Ht Iewra o w8, AfpH Uieiae 751
& Ud YT & ¥ B 61| 3AAIT, I8 7Tad 7
fawed (d) o1 ot sifaw dfda # WY I foran man
gl

(b): BH WM € & omud &1 8% 7 @S X
EISE

AT L 3R B 3Gd B TS 3R ST 81 Y, qa
3TTd &1 &A% d, A= LXB

3F, U T HT &THA = 1.4 L x 04 B = (1.4 X
0.4) (L X B) = 0.56 A 39 UHR, 741 &3%d qd
3T BT 56% &, SUTd &ABA H 44% B HHI g8 8
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T

30. (b): Clearly, withdrawal of funds by society 30. (b): W ¥U U, Gt & el GRI 49 P
members is bound to reduce the lending power of Rt T T F IYR 29 B! Uied HH 7
the society. il

-

e 0 e sdnt i ormaton x40 | Bl 7 7 T o e
the field of politics. However, it shall create the ﬁT&ﬂ?ﬁ bl 4 BT ETefiicp,
same political atmosphere in the campus. Thus, 2% E T {ﬁaﬁ XTSI AIETE ST 1§ W %,
both the arguments hold strong. CIEIGED Holdd gl

32. (b): In morning hour, the shadow of any object is w132. (b): g8 & Oy fordlt a¥g &1 o Uiy fq=m @
formed towards west. m 9 3R S B
According to question, to the left of Vishwanath ‘ £ TR Ay & ol oiR ufyw famm HERIN
. . £ ’
is the west. Therefore, he was facing towards g W%Wﬁ 3R T
north. ] v

>
0133. (d)
33. (d) H é Calculators
Calculators >
B
0
T
‘ 8 Scales
Scales <
£
= §
0 Phon
Phones B ones
o\ Only (2) and (4) follows.

Only (2) and (4) follows.

34. (d)
Tables Tables
Tables Tables v
T.V.
TV TV. - (or)
(o)
° Radios Radios
Radios Radios
None of the four follows. TR AP é s THRU EHEZT %|
35. (b): TER BT TIHM ST = 22000
']
c
VE
I
£
g:
¥
B
3
H 0
g
b
e
[]
T
]
[}
g
£
[}
= s
[}
4

34. (d)

35. (b): Present population of town = 22000
Rate of increase in population annually = 10%
Let the population 1 year ago be x.

Now, (x + 10% of x) = 22000; (x + x/10)=22000;
11x/10=22000; x = 22000 x 10/11; x = 20000
So, the population 1 year ago will be 20000.

SRRe B ATt gfg v = 10%
T 1 T Ugd Bt S x At
34, (x + x BT 10%) = 22000; (x + x/10)=22000;
11x/10=22000; x = 22000 x 10/11; x = 20000 I, 1

¥ Uge SRS 20000 B |

36. (d): From I, the order is E, B, C or C, B, E.
From II, the order is E, B From III, the order is
A,D,E.

Combining the above three, we get the order as:
A,D,E,B,C.

Clearly, E is sitting in the middle. So, all the
three statements are required.

36. (d): 19, BHE, B, CTIC, B, EgI
¥, HHE BRI NIY, HHA,D,ETI
IWRIgd 4l &) free, 36 $H 39 USR fAddr e:
A,D,E, B, C.
WYa:, E §e H 93181 31d:, il YT I gl
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37.

38.

39.

40.

41.

42.

(d): The information given in the three
statements together is also not sufficient to
answer the given question.

(d) A child will write with a 'pencil’, and pencil
is called 'sharpener'. So, child will write with a
'sharpener’.

(d): Brother of Raju's wife- Raju's brother-in-
law; Son of Manju's brother is the brother-in-law
of Raju. So, Manju's brother is Raju's father-in-
law, i.e., Manju is the sister of Raju's father-in-
law.

(d):
N
40m
- 20 mI 20m N
>
60 m
S
(c): 2000 years have 2 odd days.

Number of odd days from 2001-2009- 11 odd
days = 4 odd days. 1st January 2010 has 1 odd
day. Total number of odd days (2 + 4+1)=7=0
odd day .. 1st January, 2010 will be a Sunday.

(a): Let age of daughter = x years Age of Meena
= 8x years According to the question,
3(8x+8)=(x+8)10

24x +24=10x + 80

14x =56

X=4

Hence Meena's present age = 4X8 = 32 years

' IRACE IAS A
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37.

38.

39.

40.

(d): I Byt 7 ) 7S SR+ fou 7T uy @
IR A & forg yafe 7Y 2

(d)

HEl a1 g | F= R fera.

(d): TS BT Ul BT HTE- ] BT T5-1s; HY & WIS
BT ST IS HT 1A g1 dl, L HT UTS ] BT TR
2, Tt HS TS P TR B T 2|

(d):

20m| 20m
w E

. (c): 2000 I 7 2 fawH fET 81 B

2001-2009 d faww faf o1 Y- 11 fawm feq = 4
fawm a1 1 SadY 2010 & 1 faww feT §1 foww
fa &) a WA (2 + 4+1)=7=0 fawH foq

.. 1 SFa%1 2010 &1 IfFaR BRI

. (a): UM 9 B IY = x 8 {1 Bt Y = 8x I T

&b IER,
3(8x+8)=(x+8)10
24x + 24 = 10x + 80
14x = 56

x=4

3fct: HIFT BT IIH M = 4x8 = 32 T9
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43. Answer D

Statement 1 is not valid. The passage mentions
that the political argument for democracy was
adopted by the leaders from their colonial
rulers. This does not mean people of India did
not have ANY effective say in the adoption of
democracy. It would be an extreme
assumption.

Statement 2 is also invalid. Last sentence of
the passage says, the creation of economic and
social conditions for the successful operation
of those institutions, such as education,
healthcare and other social services lagged
well behind.| It highlights the conditions at the
time of independence. However, this answer
statement talks about the state of health and
education at present, which cannot be deduced
from the facts given in the passage.

Statement 3 is invalid. No doubt an educated
society is well aware of both rights and
responsibilities (soul of
democracy), however, we cannot say that
educated societies of western world are BEST
suited for democracy. It is a fact that India,
despite lower literacy levels as compared to
western countries, has among the most vibrant

functional

democracies in the world. Hence, in the
contemporary context this answer option
might not be relevant.

44. Answer C

Option C is correct. Author has compared the
conditions and social realities of Indian society
with that of Western societies where
democracy grew and advanced by confronting
a succession of internal social contradictions.
In the west, the democratic and industrial
revolutions emerged together, reinforcing each
other. This was not the case in India. Here, the
political democracy was adopted by the
leaders from their colonial rulers. Hence, the
author indicates that the socio-economic
preconditions of a functionally successful
democracy might have taken a back seat in
case of India. While doing so, he underlines
the importance of preconditions for functional
success of a democracy.
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43. 3T d

HYT 1 A9 a1 §. IR T I § b dpda &
forg Trorifae ad areit 7 1o snufafie <!
Y 3TN UT| 3YHT AAAs I8 -8l ¢ fb dbad Bl
T T YR & A 1 Big THIET YfieeT =gt ot
g U TRH YR gHT,

By 2 Y 3T B, uR=ye &1 SifdH a1 g B,
3T IE F Ihd e b fou ofiie SR
T RfRufaat 1 i, S fRren, ey Jar
AR o WMo dald w1 S | TR T8
WAdl & gag @) R R g S Bl
BTdp, T8 IR HYF aaAM H W AR e ot
fufd & IR & a1a HRar g, ot s/ T o
few e gt § 7€ AT off I B

HYF 3 3T . 30 PIs UGS ol § [ U e
TS SRIBRY SR el @mies didmd &
3T THF & IR A 33t e F ST ], STaifp,
B9 U8 ol &% I&hd ¢ & uldh g & Rfdm
AN ibda & oY Tad Suged &1 T8 9a ? &
Uiy <= & A A HH WERAT TR P SA9Q
YR T & FaY Sidd i § 9 T 7| 39,
M YeH ¥ 98 SR faeer urifie et 8
Thd g

fawer ¢ I 3. AW 7 URd g & fRufaar
3R TSI IRafadmarsit @t gemr afdedt To 3
FI § gl Apad 3fiaRe ImIfve ARty &1
I R [ABRad gom iR oM §eTl ufdm ),
FRd T TP A S| YRA H U1 a7 o 7@t
IoHIfad a1 Adie 3 o Sufafie
YS! Y ST UT| SHRAY, TGP SR BT & b
FPAEF F0 F B b DI IS -G
Ud I YRd & AFA J Ui I8 718 | T HRd
Y, 98 Adbadd & HRTES Jhadl & g gd 2maf
P Hed Bl Wifbd P Bl
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45.

46.

47.

48.

49.
50.
51.

(a): Let the father's age be x, so that son's age be
(48-x) years

After 4 years, father 5 age Will be x+4
and that of son's age = 48-x+4 = (52-x) years
(x+4)=3x (52-x) (given)

x+4=156-3x

4x

156-4 152

x =38

Father's age is 38 years.

Son's age is 10 years.

(a): Let the average after 10th innings = x
According to the question, 10x+216 = 11(x+2)
=>x=216-132 =84

New average 84 +12=96

(¢): Girls 15.4

Boys - 16.4

Average =15.8

Girls 16.4 15.8 =0.6

Boys 15.8 15.4=04

Clearly, Boys Girls = 0.4: 0.62:3

(d): If both conclusion I and conclusion II
follow-

SIS

d
d

C

45. (a): AT fOdT @Y oM x €, 1% I BT 3 (48-x)

Iy g

499 91¢ foaT &1 3mg 5 I x+4 WA
3R 92 B I = 48-x+4 = (52-x) T
(x+4)=3x (52-x) (f&ar Tm)
x+4=156-3x

4 x

156-4 152

x=38

T 1 37 38 AT B

I PHIIF 10 A &

46. (a): AT 109 URY & §TE 3 = x
Y & TR, 10x+216 = 11(x+2)
=>x=216-132 = 84
T 3T 84 +12=96

47. (c): ASfeal 15.4

' IRACE IAS A
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TSP - 16.4

3gd = 15.8

TSfPHaT 16.4 15.8=0.6
ASP 15.8 15.4=0.4

| v, Ted dsfeal = 0.4: 0.62:3
48. (d): afe Frept 1 3R el 11 ST SR B B-

S

49. d
50. d
51.c¢
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52.
53.
54.
5s.
56.

57.

58.

59.

60.

61.

d

C

d

d

a

Directions (52-56:)
Person CITY

A Delhi

B Ahmedabad
C Chennai

D Pune

E Kolkata

F Lucknow
G Mumbai
(a): 2+46; 6+6=12; 12+8= 20; 20+10= 30;

30+12=42; 42+14=56
Starting from the first figure, add 4, 6, 8, 10 12,
etc. to each term, respectively.

(d): We can easily observe that the total number
of triangles in the given figure is 17. Hence, the
correct answer is option (d).

(a): Clearly, internet users should not suffer on
account of certain individuals who indulge in
internet hacking. However, such wrong-doers
ought to be penalised so that there are no hassles
in the use of internet. So, only course I follows.

(d): is a

inconvenience for walkers. So, stern action needs

Crowding on footpaths great
to be taken to remove the vendors. But at the
same time these people ought to be provided
alternative means of livelihood. So, both the

courses follow.

(b): The statement implies that capsule Vitamin
E does not function so effectively as natural
Vitamin E. Since no negative effect of capsule
Vitamin E is mentioned, so I does not follows.
Hence, only II follows.
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d
C

d

d

a

52-56:

fad R

A faeett

B 3GHGIETG
@ EEH

D qo

E CANEAG]
F TS

G qag

. (Q): 2+46; 6+6=12; 12+8=20; 20+10=30; 30+12=42;

42+14=56
UEd 3% I URY Hd gU UAH Ug H AT 4, 6, 8,
10 12 3¢ S |

. (d): B9 T ¥ W g&d § fp few mu fom A

B @ o We 17 31 3ufie, I8 IW fawd
(d) Bl

. (a): WY Y F, e ITAHASH B FeAe

b7 A Rred oo afeadl & BRu difed et g
Y| graiifes, T TTad & IR ardl &I Sfsd
fear ST a1fRT aIfe dexde & SwNM H @i
TR A g1 3(d:, Had dal AN IR FHRT §
T & SrRU aRaT § |

. (d): Feurdf R e Oed Taq ardl & oY U aet

3gfayr g1 sHfere fagarstt & gem & fou wat
PRATE B! ST AT Afea Ty g 39 antl &
3TSifdeT & dofeus Tyt Iudsy HRE H
FRYI A, ST UTSTHH IRV H 6 |

. (b): BYF BT a0 B & FT ety € upfae

faerfim 3 foran wurdt <1 @ wrf T8 R 81 Ffh
Fd e § & 5t off FoREs uve @
FRATE [ 37, Had 1 S0 HRAT 5 |
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62.

63.

64.

65.

(d): Nothing about the details of the employees'
income or the cause of their refusal to declare
their income and assets, can be deduced from the
given statement. So, neither I nor II follow.

(a): Clearly, I follows directly from the given
statement. However, II is not related to the given
statement and so does not follow.

Answer A

e The passage talks about the excavation of
distillation stills from the cities of the Indus
Valley Civilisation. It, then, moves on to
Sanskrit texts talking about the art of
perfumery. This means perfumes might have
been used by Indus Valley people. Hence, it
can be safely assumed that excavations tell us
about the existing socio-cultural lives of
historical times.

e The second assumption is not correct because
many ancient Indian texts also mention the art
of perfumery. The passage quotes Sanskrit
texts on the art of perfumery to support this
argument.

Answer A

e Option A is a correct inference. The last line of
the passage implicitly indicates that right skill
oriented policy making can help emerging
markets like India to gain. Further, it is
mentioned that new sectors would be formed
(in digital space). India can gain from these
emerging trends if the right policy measures
are duly taken.

' IRACE IAS A
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62.

63.

64.

(d): fau 77t faavor § sl o ema & faaror o
ITD! 3 MR Fufty Giffid R A STPR A &
FRU & IR | o Ht T Ao o1 gFar 31
ST, T Y 1 3R 7 & 11 3IR0 Sl 5

(a): WF ¥U Y, | l3T T FHy= ¥ HY IR0 Hxar
g1 g, 11 U 7u wyF ¥ I&fia 8 § iR
SHTATY ST STHRVN TET bRl B |

JM a

g gRwse Rig °1e T & UERT U SHNIG SOl
B! Qals & IR B 91d Il 3| STP 1, Tg 3T Bt
HAT S IR H 91 I a1 Ahd TUf BT SR gl
8| 39T Aaad § b 3 &1 Iy Riy aret &
GRT fob a1 1 BHTT| SMY, T FRI& U & | &
ohdl 8 5 S & UWeRie awg & A
TR - i e Shia" & aR & add B

<G8 URT OE) e & @i &< uree yRey v &
Wt 33 91 B} A1 BT I@W g1 5T a% B g9
IR & T uRwse d 39 & el W IHd Ut Bl
Ieyd fpar mar R

. 3R a

fawed A T% T oA §1 Uiy @t sifaw dfdd
Ty w0 ¥ M =t ¢ 5 9 dwa I A
fAnfor 4RA SR IR INIRI & A UgIH | Heg
PR IHdl g1 ST 3{d], T8 Ioord fobar T 8
T &l &1 oA b s (f$foea W o)1 afg
g1 AfHTd HEH IS MY Ot HRA 39 IHIA T
A 33T gobaTl B
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66. (c): Percentage increase in the number of
students in three institutions is as follows:
For Institute A: Percentage increase in the
number of students in 2011 as compared to 2009
=[(10000-8000)/8000] x 100 = 25% For Institute
B: Percentage increase in the number of students
in 2011 as compared to 2009 [(25000-
20000)/20000] x 100 = 25% For Institute C:
Percentage increase in the number of students in
2011 as compared to 2009= [(30000-
12000)/12000] x 100 = 150%.
Therefore, Institute C has seen the highest
increase in percentage in the strength of students
in 2011 as compared to 2009. In fact, the
percentage increase in case of institute C is much
more than that in case of A and B. It may be
observed just by looking at the bar graph and one
may avoid unnecessary calculation.

67. (a): Total students in institute C
12000+15000+30000=75,000 Total students in
institute B=20000+22000+25000=67,000
Required Difference =67000-57000

Hence, option (a) is the correct answer.

=10,000

68.
69.
70.
71.
72.

Qa0 o a

Direction (72-76:)

Geography

Biology

©

English

®

Economics Chemistry

Civics Mathematics

®

Physics

®

73. (¢): In this simple alternate subtraction and
addition series; 1 is subtracted, then 2 is added,
and so on.
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66. (c): OF TRl T BT Bt T=T | Ulo=Id ghg 39
THR B:
I A & T 2009 & a1 H 2011 H SET DI
e o ufa=ra gfg = [(10000-8000)/8000] x 100
= 25% TR B & foIQ: 2009 &1 a1 & 2011 &
‘Al ® den § ufoad 9fs = [(25000-
20000)/20000] x 100 = 25% TRIF C & T
2009 @1 go-T § 2011 & BHET &t ¥ § ufawd
3f& = [(30000-12000)/12000] x 100 = 150% |
Sferg, I At F 2009 Hf gAT H 2011 H AT
B! G § ufdwd # qe9 3ifye gig ol 7 71
IRad H, TE W & Td A ufawrd gfg T ek off
& HAHA P goT § 9gd it §1 I d@T W
THdl € Had IR UTH BT STHR g U e
U | 9 GobdT B

(o))
3

. (a): I ¢ H $& BH = 12000+15000+30000 =
75,000 $@ BF TR b =20000+22000+25000 =
67,000
T H 3HdR=67000-57000=10,000 3(d:, fawHeq

(a) T&T ST B

.d
. b
. C
71. d
72. d
72-76:
Geography
English Biology
Economics Chemistry
Civics Mathematics
@ Physics @

73. (c): 39 WA dbicd® Ueld 3R WS s o; 1
YT ST 7, o 2 SeT 9T 8, s |
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74. ¢ 74. C
75. a 75. a
76. ¢ 76. C
Direction (74-76) < 74-76
Friends Specialisations Sports = foryzan /A
Santosh Electrical Football : m s
Sumant Hardware Tennis m ~ N
Samaresh  Metallurgy Swimming gHd Eﬂéﬁ?ﬂ e
Sahil Telecommunication Badminton T %[T@?ﬁﬁ e
Sukant Software Hockey IR RGN Ssftied
Sovan Mechanical Cricket , Jghid IIUdaR gldpt
77.a Pi| e afw e
78. ¢ il a
" Hi
X
80. (b) o >
Option 1 is incorrect ch $0. (b)
Statement 1 is an extreme statement and the &l
) > e (1) 799 3 FYF 1 TF WA HYT § AR
passage does not establish the fact that the us :
people obsessed with personal hygiene tend § RS §9 7 1 R T e & {3 safema
to ignore community hygiene. Further, there ‘ < W IR AT WS T B E.-a&” P
is no mention of multi-drug resistant germs § Tl S 3 dg-adl EISRE] ﬂTI'I'QI\’:fT B DI
rather resistant germs which cannot be = E I®G el €, dietp gaieh m‘}h &I ITee Al
prevented from just personal hygiene. Thus | X foar T § o8 Paa fdmTd Wesd ¥ T8l AT

Statement 2 stands an invalid assumption.
Option (2) is incorrect- It can be inferred
from the passage that personal hygiene
undoubtedly reduces the rate of infectious
diseases. Further, the entry of the market in
this domain has created a false sense of
security; it cannot be established that it
increases the risk of infectious diseases per
se. Hence, statement 3 stands as an invalid
assumption.

Option (3) is correct- Experiences from
western Europe have established the direct
role of community hygiene through public
measures effective in reducing infectious
diseases and death rates.

Option (4) is incorrect- Based on the above
deductions, and 2 stand
eliminated leading to this option being
incorrect though statement 4 stands as a valid

statements 1

assumption.

ST Ghdl 21 39 UPR HYT 2 T M YR 5|

fawed (2) TAd B- T ¥ Ig SATAN IR S
o1 ¢ fob afeTa To=sar Rede e Iehme T b
R B HH B 21 3UP 3(elaT, 39 &7 H TR &
T 3 GREM BT AT Wi a1 R & §; U8 wifd
o1 a1 o1 pal fh ST ThTHE 0T BT TR §¢
ST 8| SY1OTT, U 3 U AT YRUM B

fded (3) e B- Ut QU F suat ¥ IpmD
AN SR TG R $ FH = § gurd Jrae-e
Il & AT ¥ RS WWesdl &1 Ul YT
T H g

fapeu (4) TAd § - SWITd Halfddl P 3MUR |,
HYT 1 3R 2 B FAT B fegr T B, DR T8
faeheu Tad 8 T §, BT HYUF 4 U IY YRUM B
FUH @I 3
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